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General Instructions to the Candidate : 
1.  34

Functional English

This Question Paper consists of 34 objective and subjective types of 

questions including Section – A and Section – B. Section – A consists of 

questions related to the subject Information Technology and Section – B 

consists of the questions related to Functional English. 

2.  

This question paper has been sealed by reverse jacket. You have to cut on 

the right side to open the paper at the time of commencement of the 

examination. Check whether all the pages of the question paper are 

intact. 

3. 

Follow the instructions given against both the objective and subjective 

types of questions. 

4.  

Figures in the right hand margin indicate maximum marks for the 

question.

5.  15 

The maximum time to answer the paper is given at the top of the question 
paper. It includes 15 minutes for reading the question paper.
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SECTION – A 

I. 

 7 × 1 = 7 

 Four alternatives are given for each of the following questions / incomplete 

statements. Choose the correct alternative and write the complete answer along 

with its question number and alphabet : 

1.  

(A)  (B)  

(C)  (D)  

 Page breaks option is available in this tab  

(A) Mailing (B) References 

(C) Page Layout (D) Page header 

2.  

(A)  (B)  

(C)  (D)  

 The new template option is available in  

(A) Start button (B) Office button 

(C) Open button (D) Task button 

3.  

(A) Sum ( a, b ) (B) = Sum ( a, b ) 

(C) = Sum ( a + b ) (D) = Sum a, b 

 The Formula which is used to add two numbers in spread sheet is 

(A) Sum ( a, b ) (B) = Sum ( a, b ) 

(C) = Sum ( a + b ) (D) = Sum a, b 

4.  

(A)  (B)  

(C)  (D)  

 In presentation grouping option helps to 

(A) cut, paste, move (B) move, rotate, resize 

(C) move, paste, undo (D) paste, undo, cut 
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5.  

(A)  (B)  

(C)  (D)  

 The view that is not supported by a calendaring software is 

(A) Day (B) Week 

(C) Hour (D) Month 

6.  

(A)  →  →   

(B)  →   

(C) →  →  

(D) →  

 The correct way to open meeting request window is  

(A) Go to Start → new → meeting request  

(B) Go to Insert → meeting request 

(C) Go to File → new → meeting request  

(D) Go to Format → meeting request 

7. 

 

(A) Select * from tablename; (B) Select from tablename; 

(C) Select where tablename; (D) Select orderby tablename; 

 The select statement used to retrieve all the columns in a table is 

(A) Select * from tablename; (B) Select from tablename; 

(C) Select where tablename; (D) Select orderby tablename; 

II.  3 × 1 = 3 

 Fill in the blanks with suitable answer :  

8. www  ........................ . 

 The expanded form of www is ........................ . 

9. ........................ . 

 The number of sheets available when you create new spread sheet              

is ...................... . 

10. ...................  

 The option used to merge cells is available in ................... tab. 
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III. 11. A-  B-

 4 × 1 = 4 

  Match the key’s type given in Column-A and their use given in Column-B : 

A-  

Column-A 

B-  

Column-B 

i) 

 Sticky keys 

a)  

 Stick to a page 

ii)  

 Toggle keys 

b) 

Designed for people who have physical 
disabilities 

iii)  

 Filter keys 

c)  

 Used to open virtual keyboard 

iv)  

 Tab key 

d)  

 Designed for people who have vision 
impairment disabilities 

 
e)  

 Used to give long space 
 

f) 

 

 It tells the keyboard to ignore repeated 
keystrokes 

 
g)  

 Used to give single space 

IV.  6 × 1 = 6 

 Answer the following questions : 

12.  

 List any two wrap text options while working in word processor. 

13.  

 Write the uses of Autosum. 

14.  

 Write the steps to insert vertical page break in spread sheet. 

15.  

 Why the custom view is used ? 
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16.  

 What is tuple ? 

17.  

 Mention two optional clauses of Select statement. 

V.  5 × 2 = 10 

 Answer the following questions : 

18.  

 Write the steps to insert Header and Footer in word processor. 

/OR 

  

 Write the steps to apply page break in word  processor. 

19.  

 List any four items that need to be there in the company header.  

20.  

 Write the formats that can be controlled in Spread Sheets. 

21. i)  

  Why is time stamp used ? 

 ii) DBMS  

  Write the expanded form of DBMS. 

/OR 

  

 Write the options available under Data manipulation. 

22.  

 Mention any 4 categories of Data types in open office base. 

VI.  4 × 3 = 12 

 Answer the following questions : 

23.  

 List the steps to insert clip art in word processor. 

/OR 
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 Mention the six options to make changes to a character or word in word 

processor. 

24. 

 

 Explain any three options to set the page layout in Spread Sheet. 

25. 

 

 Mention the two ways to schedule an appointment and explain the steps to 

create recurring appointment. 

26. 

 

 Mention the two types of languages used to manipulate Data and explain 

them briefly. 

VII.  2 × 4 = 8 

 Answer the following questions : 

27. 

 

 List any four types of charts used in Spread Sheet and explain them. 

28.  

 Explain two ways to insert a table in presentation. 

/OR 

  

 Explain the two ways to insert movie clip in presentation. 
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SECTION – B 

I. Four alternatives are given for each of the following questions / incomplete 

statements. Choose the correct alternative and write the complete answer along 

with its question number and alphabet : 3 × 1 = 3 

29. Choose the simple present tense among the following  

(A) I wrote a letter (B) I write a letter 

(C) I will be writing letter (D) I have written a letter 

30. The Jeweller's store is right next ............... the bus-stop. 

(A) of (B) to 

(C) on (D) in 

31. The point at which a road divides into branches is called 

(A) Cross (B) Intersection 

(C) Fork (D) Circle 

II. Fill in the blanks with suitable answer : 1 

32. The first course of a meal is called .................... . 

III. Answer the following question : 2 

33. List the fields that need to be included in a resume or curriculum vitae (cv). 

IV. Answer the following question : 4 × 1 = 4 

34. Fill in the blanks with the suitable word given in the brackets : 

i) We must reach the airport on time or else ............... ( us, we, I ) will 
miss the flight. 

ii) One of ............... ( us, your, you ) will have to speak to the travel agent 
and make arrangements for the trip. 

iii) I ............... ( daily, recently ) moved to a new city. 

iv) The area is well-maintained and planned ........................ ( prettily, 
beautifully ) 

OR 

 Fill in the blanks with appropriate word given in the brackets : 

i) Oh! I think that's my bus ................ ( over, behind ) that red truck.    

ii) She will be waiting for me ............... ( on, at ) the Sikkim food stall.   

iii) A man who provides rooms for rent is ....................... ( supervisor, 
Landlord ) 

iv) A fee that you have to pay to the agent is ...................... ( Bonus, 
Commission ) 
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